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Who is famous for ‘Kavad” making?
(A) Ustad Lalchand

(B) Mangilal Mistry

(C) Sahibram

(D) Champalal

(A) SWE WS

(B) wi e frel

(C) wresT™

(D) =TT

Where was Bharatpur Prajamandal
established?

(A) Bharatpur (B) Bayana

(C) Hisar (D) Rewari

AIAYR USHISH el e Rear war an?
(A) HTEgL (B) sIm

(C) Rwr (D) =y

What is the compound interest on ¥ 5,000
for 2 years @ 5% p.a. compounded
annually?

% 5,000 %1 2 9% @ 5% aiiie = 7T
Y wehgls S T ¥ Wals ST @Y o
s B 7
(A) T 500.00
(C) T 512.50

B) T 510.00
(D) T 515.00

Potato 'is a modified :

(A) Root (B) Stem
(C) Leaf (D) Fruit
A, Teh WA &

(A) S% B) T
(C) w4 D) o
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Which of the following pairs, regarding
folk-dance and its region in Rajasthan, is
incorrect?

(A) Dhol Dance - Jalore

(B) Dandiya Dance - Marwar
(C) Bamb Rasiya - Bikaner
(D) Gindar Dance - Shekhawati

Frfviiea & @, TeTa © SO% %‘»i’?r'\»j%;
gl A |, B A gd Ty

(A) B T — SR

(B) sifean @ — AR
(C) = hymr — ey
(D) iies 7@ — @R

In which district of Rajasthan the Gilund
archaeological site is located?

(A) Bhilwara (B) Rajsamand
(C) Pali (D) Udaipur

e % frw e o frees goaw s
e Reg ®7

(A) gt
(C) qra

(B) TwEHg
(D) s&ag

If the height of right circular cylinder is
equal to its radius o then volume of
cylinder is '

I T ARIRTT AT B HATg DI (9T
a % TUET T q 96 BT FA™AT §

(A) na? (B) %na3

(€) 2nd® (D) na’

[ Contd...
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Rajasthan which stands first in the solar
energy production is at what position in
the roof top solar plant?

(A) Second (B) Third

(C) Fourth (D) Fifth

YR SS9l IR ¥ T QI U Wi e
w% T R s ¥ e W woR?

(A) T (B) @Y

(C) € (D) s

Navnera dam is under construction on-
(A) Chambal (B) Mahi

(C) Kalisindh (D) Banas

[ (FER) Sfe @ Fele B T W -
(A) T/« X (B) 9l ©X
(O) wmyg gv (D) ¥9 8 W

If the zeroes of the quadratic polynomial

x*+(a+1)x+b are 2 and -3, then -

oty fama sguE 2?2+ (a+1) x+b % qTF 2
qem -3 B, Ar -

(A) a=-7, b=-1

(B) a=5, b=-1

(C) a=2, b=-6

(D) a=0, b=-6

Who has been honoured by Rajasthan
government with the ‘Skill Ambassador
Award, 2022° on World Youth Day?
(A) Rakesh Kumar

(B) Sunil Kumar Meena

(C) Shri Bhagwan

(D) Ashok Yadav

fasg gar fow ux TSRy weai A e
‘Repw dewsT arars, 20227 ¥ T et 7
(A) THIT FAR

(B) g g A

(C) & wras

(D) &gl aea

12

13

14

15
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Which of the following Prashashti was
composed by Atri and Mahesh?

(A) Bijolia Inscription

(B) Ranakpur Prashashti

(C) Kumbhalgarh Prashashti

(D) Kirti Stambh Prashashti

P ¥ ¥ few ol & wRer o= @R
T A7

(A) Rt sihee

(B) TorRgT wemRa

(C) pvee wutd

(D) &Y w9 gala

An Isohyet line dividing Rajasthan into
two almost equal parts is -

(A) 25 cm (B) 50 cm

(C) 75 cm (D) 100 cm

I (@1 W AT B AT &
art § Ry s 3, 9 ¥ -

(A) 25 @ (B) 50 &

(C) 75 a (D) 100 ¥F

Which of the following is not a scheme -
related to the promotion of education in
Rajasthan?

(A) Jeevandhara (B) Lok Jumbish
(C) Guru-Mitra (D) Saraswati

e A g B o e e ¥ e %

Hreares § deftg T8 T 0
(A) e (B) @ iy
(C) T (D) T

A and B started a business together and
got a profit in the ratio 3:5. If B invested
T 80,000 for 12 months, then A invested
T 72,000 for how many months?
(A) 10 months  (B) 9 months
(C) 8 months (D) 6 months
ATur B ¥ UH WY % HEER W fman

el 3:5 % orue ¥ @v ouw fRuTl O

B9 12 ure & g T 80,000 MRy ’, &
A ¥ T 72,000 fpam =e & fog ey fey 7
(A) 10 5 (B) 9 W@
(C) 8 ums (D) 6 7®

[ Contd...



16 A metal commonly used in computer chip
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18
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g ufer ey @Rl S B

is -
(A) Tin (B) Zinc

(C) Silicon (D) Copper
HEEY 9 ¥ EEy o ¥ e A
oy ¥ -
(A) fe=t
(C) taferes

(B) Wi
(D) =3

In which year the princely state of Sirohi
concluded treaty with British?

(A) 1817 AD. (B) 1818 AD.

(C) 1823 AD." (D) 1825 AD,
WW%W%WJWWH&%
B AT ?

(A) 1817 &. (B) 38183‘

(C) 1823 %

D) 1825 sﬁ

A new flying training academy 15 to open
at — under the flying trammg
organization policy of the Airport
Authority of India. :

(A) Kolana, Jhalawar

(B) Naal, Bikaner

(C) Kishangarh, Ajmer

(D) Lalgarh, Shri Ganganagar

ﬂnﬁmﬁnmﬁwmmmaé’rmg&w
TS |G & aed ﬁ'”qes;ﬁ?

(A) BT, FETETE
(B) =@, T

(C) fererrrg, armm™R
(D) wreTe, A AT

19 Which of the following is Bikaner’s

20

21

22
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Foundation Day?
(A) Krishan Janmashtami
(B) Sheetla Ashtami

- (C) Akshay Tritiya

(D) Ram Navmi ‘

e ¥ ¥ ST @ W Reg B ar 7
(A) FT TETSAY

(B) sfeamsedy

(C) sara garm

(D) T e

‘Kasumal’ colour means :
(A) Red colour (B) Black colour
(C) Blue colour (D) Yellow colour

B T W o §

(A) s B (B) wmm o1

(C) <@ (D) 9 &1

The Sitabari fair mainly belongs to
SN i s { o1

(A) Girasia (B) Sahariya

(C) Bhil (D) Meena

e I g . S ©
SiaiEer

(A) ol (B) @shwn

(©) (D) =

‘School Padharo Jaisane Ri Ladli’ scheme
is targeting the girls of

group.

(A) 5 to 8 years

(B) 10 to 18 years

(C) 3 to 6 years

(D) 5 to 9 years

T TET S & e’ A g
oy Y SR B i
femam %)
(A) 59 8 o9
B) 10¥ 18 79
(C) 39 679
D) 59 9 =9

[ Contd...
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Abscissa of a point is negative in -
(A) I and III guadrants

(B) UI and IV guadrants

(C) II quadrant only

(D) IV quadrant only

% g 1 4 %O T v -

(A) 11 T 11 =gafel &

(B) I gor IV agufel

(C) wem I =gulyr &

(D) wew IV aguter #

The property which serves as a criterion
of purity of an organic compound is -
(A) Solubility in water

(B) Melting point

(C) Density

(D) Crystalline nature

I8 O W 5 HETEG ARG @ Eal o
TS § -

(A) il § geaeiear

(B) Trewies

(C) =7

(D) Freia ek

Which is the densest substance on Earth?
(A) Platinum (B) Copper

(C) Steel (D) Osmium

TR/ ET UX Afean e e garf B
arR?

(A) wfe™
(C) <=

(B) wax
(D) ertheas

If the length of a conductor and its radius
are doubled, then the resistance of the
conductor will become . -

(A) half (B) one-fourth

(C) double (D) zero

i el oee & s 9 R @ g &Y
o wQ @ S iaE 8 S

(A) e (B) ww—hg

(©) g D) o

28

29

36
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~ (C) Bharatpur

Let ‘m’ and ‘n’ be two positive integers
such that m + n + mn = 118, then the value
of ‘m+n is -

AML S’ WAT ‘0’ T OIS TG 56 THIK
¥, % mtn+mn=118, T ‘m+n @
-
(A) 18
(C) 22

(B) 20
(D) 24

Where is the Black Buck Sanctuary
located?

(A) Talchhapar (B) Sujangarh

(C) Ranthambore (D) Kumbhalgarh
HET T A BEl R § 7

(A) SR (B) gorTTe
(C) =R (D) p™ETE

Rajésthan has huge potential of Bio-mass

power generation on account of -

(A) Desert Terrain

(B) Direct sun rays

(C) Forests

(D) Dry stems (sticks of mustard) and
- cattle wealth

ORI & SI-H1 et o IeareT o e
AR g & | §7

(A) "eREE YEs

(B) v gd femvol

(C) ==

(D) g@w%m(w@rﬁam%m)mw&m

As per the Animal (Livestock) Census
2019, the district having highest number
of Buffaloes in Rajasthan is -

(A) Jaipur (B) Alwar

(D) Udaipur

TR T 2019 % ATET T H T
&l o T g fwer ¥ -

(A) S (B) &1ereC

(C) TR (D) TR

[ Contd...
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(A) Jalore (B) Nagaur
(C) Kota (D) Jodhpur
(A) SR (B) MR
(C) =i (D) sEge
132A (2m3330) ] A Page 6 of 16

Where was born the second Meera of
Rajasthan Sant Ranabai?

(A) Kudki (B) Kapdod

(C) Sabala (D) Harnava

ST Bl GO 9 6 AT BT T el
o 9Ty
(A) peat

(C) e

(B) wmElE
(D) s

The 120 term from the last of the AP
3, 8, 13, ........ 253 is -

q 23,8, 13, e 253 w1 i B ¥
12ef a8 ¥ —
(A) 200

(C) 196

(B) 198
D) 193

In which of the following region of
Rajasthan, Tharparkar cow breed is
found?

(A) South-Western

(B) North-Western

(C) Central Aravali

(D) Western

e o W TOTRIM % B Y 9N T
T 9T S g 7

(A) wfgon—afyes

(B) STR—aidaHl

(C) =&y STrEar

(D) ufyee

Where the famous tourist place ‘Jaswant
Thada’ is located?

35

36

37

38

Which region is considered as birth place
of Rajasthani Painting?

(A) Hadauti (B) Marwar
(C) Mewar (D) Dhoondhar

fore & @) ToTeI RIseet T SRR T
A ¥ ?

(A) =i B) ==
(C) #ars D) =B

According to Right to Education Act girls

studying in private schools in Rajasthan

can now avail free education till
class.

(A) IXth (B) Xt

(C) x1th (D) Xiith

favem et sttty erffrm & oea TRy #

ot wpal o aTemEERa SMEed o

% Pryws ue @i
(A) 9= (B) 10<%
(C) 113 (D) 124

Rana Pratap Sagar Dam is located in the
district of -

(A) Rajsamand (B) Kota

(C) Chittorgarh (D) Tonk

o gara v a9ty e e R 57
(A) TsgHz (B) &

(©) Rl (D) <=

The term “Usta Art” is used in reference
to which painting style?

(A) Devgarh (B) Kishangarh

(C) Bikaner (D) Hadauti

‘TR AT T7 1 T R e el

dey ® fRar S B 7
(A) e (B) frerme
(©) dFT (D) KIEIR]
[ Contd...
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Ratio of volumes of two cyiiﬁders'wi*ih
radii r{, 7, and same height is -

ry T r, B AW W SR A Sl
F R W U § -

(A) riiry B) 1:1

) »ry (D) »2:rf

To boost para athletics in Rajasthan
Residential Para Sports Academies are to
come up in which two cities?

(A) Jodhpur and Jaipur

(B) Jaipur and Udaipur

(C) Jodhpur and Bikaner

(D) Bikaner and Udaipur

TR H U queeas @l gerEr &7 & oY

5 &) el o ooy IR WIE STmErTl

eyl Wl S 7

(A) SR Td Sy
(B) SWyx Ud SEOY<
(C) wragx w@ TerR
(D) ¥/t T SEEYR

Who inaugurated United Rajasthan on
April 18, 19487

(A) Sardar Vallabhbhai Patel

(B) Raj Gopalachari

(C) Jawahar Lal Nehru

(D) V. P. Menon

18 oi¥e, 1948 ) Tgery TSRATT &1 ITHTeH
fpem fopam e ?

(A) TER TwI9E 9T

(B) T Ty

(C) FeTstE™ @

(D) & 9. ="

42

43

44

45
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From where Motilal Tejawat initiated no
rent movement of tribals?

(A) Kotra (B) Sirohi

(C) Jharole (D) Padauna
AT qoad o HEl § Siyamiyay Bl e
T e o ?

(A) wiesT B) R&

(C) =S (D) udr

The 3™ Sunder Kanti Joshi Awards were
awarded to Sonal Kalal and Anaya Garg
on April 3, 2022. For which sport is these

awards instituted?

(A) Hockey (B) Cricket

(C) Athletics (D) Badminton

Jar T BT Sl GBI 3 adm, 2022
& QN HE U9 ol T 6 Y ) us
qER fow gw % WY i e T ¥
(A) =TT (B) fpepe

(C) uumitesy (D) ssfres

In which district of Rajasthan Degana
mines are located?

(A) Dungarpur  (B) Nagaur

(C) Udaipur (D) Rajsamand
T TN o™ & few R o Rug ¥0
(A) TR (B) Wi

(C) s=agX (D) TeEEs

Who gave ‘Theory of natural selection” ?
(A) Mendel (B) Weinberg

(C) Lamarck (D) Darwin
“orepferes T w1 fasta’ e R ar ?
(A) 7=« (B) <we

(C) ¥ (D) siR=

[ Contd...
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Which one of the following rivers is not
flowing in Baran district?

(A) Kural (B) Kunu

(<) Parvatl (D) Parvan

forer ¥ @ B @ = IR e ¥ vt
a7

(A) BT B) 33

(C) ur (D) wtEm

Which of the following ornaments is not
worn around neck?

(A) Tulsi (B) Timaniya

(C) Sari . (D) Rakhri

Frer % ¥ @9 W omqww T ¥ ge W
ST ¢

(A) gl
© =«

(B) fo=fan
D) @

Fathom 1sthe unit of measurement of -
(A) Depth of water

(B) Density of water

(C) Volume of water

(D) Flow of water

e, A B T ¥ -

(A) T B TETE B

(B) Wi« % ETE ol

(C) v« & STaaT @l

(D) v & SBE B

P is thrice efficient as Q and Q takes
12 days to:do a work, then in how many
days P can finish the half of that work?
(A) 8 days (B) 6 days

(C) 4 days (D) 2 days

P, Q@ &9 TN B ¥ a1 Q TH B B
H Y 12 R e ¥, O feaw |V A P oW
HTH BT AT TH HT Fehall & 7

(A) 8 f= (B) 6 fm

(C) 4 == (D) 2 &=

50 Under whose direction the Balathal

=1}

52

53
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Civilization was excavated?

(A) B. B. Lal

(B) V. N. Misra

(C) R. C. Agarwal

(D) Amlanand Ghosh

SIATLT GHIAT BT ST [h8h e § o ?
(A) 9. 1. @

(B) 4. . ™™

(C) omR. €. onEE
(D) swEFEE WY

Who was the founder of Chauhan dynasty
of Ranthambhore?

(A) Pruthviraj (B) Hammir

(C) Govindraj (D) Valahan
ORI 3 GIeT ISt ol ST DI o ?
(A) gerT (B) =R

(C) wiiar=Te (D) =T

From which area of Rajasthan ‘Pandhari
Modaks’ are famous?

(A) Jodhpur (B) Nathdwara

(C) Sikar (D) Bikaner

g7

(A) siEgR
(C) dmx

(B) -TUERT
(D) FHER

Who was the architect of Jain temple of
Ranakpur?

{A) Mandan (B) Deepa

(C) Vastupal (D) Napa
UYL % o HRR @ el B ar?
(A) == (B) <

(C) amgure (D) =

[ Contd...
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T ¥ 7
(A) i # B) A A
(C) T o (D) woX &
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4x
If P=-—X-, then the value of
X+y

+ 2% + 2y .
pr2x pt2y .

p=2x p-2y

_4xy p+2x p+2y
W p x+y’ p—~2x+:pf—2y
(A) O B) 1
<) 2

(D) 4 ¢,

Ravan Hattha is whose rhajor musical
instrument? e

(B) Kalbeliye

(A) Bhil
(C) Mirasi (D) Bhopa

RERECIRCC e e
(A) e (B) wrrdferd
(C) Prord

D) s

If radius of curvature of a convex mirror
is 60 cm, then its focal length is

(A) +30 cm (B) -30 cm

(C) +60 cm (D) —60'¢m

R e adfor B e B 60 ¥ @, @
e B g ¥ o

(A) +30 e (B) —30 %

(C) +60 Y (D) —60 &+

Hamel is an ornament worn in which part
of body? ‘

(A) In hands  (B) In legs
(C) In neck (D) In Walst

58

59

60

61

The value of a laptop depreciates by 10%
every year. By what percent will the value
of the laptop decrease after 3 years?

W WU % HE H Ui a9 10% @1 B s
¥ 3 avl & 9y wUeT ¥ ge ¥ feaw
TS T BT B 7

(A) 30%
(©) 27.1%

B) 27.5%
(D) 25%

‘CAZRYI’ is situated at -
(A) Jaisalmer (B) Jodhpur

(C) Jalore (D) Barmer
(A) gt o (B) wrayR o
(C) v & (D) wreax #

In which fort nine similar palaces are
built?

(A) Taragarh (B) Nahargarh
(C) Chittorgarh (D) Gagron

T Y A TEw Rfew few F s ogw ¥7
(A) T (B) -ETTE

(C) FieTe (D) Ty

The base of an isosceles triangle is 24 cm

- and its area is 192 cm?, then its perimeter

is - , .
(A) 60cm (B) 68cm
(C) 64cm (D) 72 cm

. T wufgag e @ ome 24 i ¥ qun

THeT S 192 92 ¥, o g9 afeg 3
(A) 60 (B) 68 %
(C) 64z (D) 729

[ Contd...
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Reproduction in yeast cell takes place by:
(A) Budding

(B) Binary fission

(C) Multiple fission

(D) Fragmentation

9 Bt § w9 @ [t ¥

(A) g

(B) TaEvsw

(C) sguwsT

(D) Trgvss

Which of the following is an essential
element for protein synthesis ?

(A) Iron (B) Nickel

(C) Nitrogen (D) Boron

TEM % vy & Ty erayes o §
(A) ¥r® (B) fmesw

©) wmgem (D) W

In humans total number of chromosome
are

aa ¥ oy R S ¥ 7
(A) 22 (B) 44
(©) 25 (D) 46

Energy possessed by water stored in a

dam is

(A) kinetic energy

(B) electrical energy

(C) chemical energy

(D) potential energy

Sy & Tufkd @ B T 9RO ) TS SO §
(A) TSt S

(B) fergga il

(C) TEEtE el

(D) Rufysr et

66

67

68
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Who among the following rulers of

Marwar is also called ‘Maharana Pratap’
of Marwar?

(A) Rao Chandrasen

(B) Rao Maldev

(C) Rao Jodha

(D) Raja Udaisingh

frefaied ares & el ¥ ¥ e arErs
T HETON Yary T SeT Wl § 7

(A) T T=AT

(B) & wwRd

(C) g s

(D) =T SEaE

Who was the founder of Rajasthan Mahila
Parishad in Udaipur?

(A) Kokila Devi
(B) Sushila Tripathi
(C) Kamla Swadhin
(D) Shanta Trivedi

0,

TEay F TR A aRkug o s

B A7

(A) wifesen <&
(B) gher fard
(C) wHen @nYgH
(D) grier Breel

When an object is thrown vertically
upwards, what will be its velocity at its
maximum height?

(A) Om/s B) 49 m/s

(C) 98 m/s (D) 147 m/s

W R 9 @ ST HOX @ S el
S ¥ oY SEee! sifenad aTg Ul SHe o
T BT 7

(A 0/ ¥
(C) 9.8 /%

(B) 4.9 fﬁ/“@r
(D) 14.7 71/ ¥
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69 Tarkashi is associated with 7

76

71

72
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(A} Nathdwara (B) Jodhpur

(C) Jaipur (D) Bikaner
el W EEY ¥ 7

(A) =nuETa (B) ShEqy
(C) s (D) drwrT

‘Rajasthan Nikshay Poshan Yojana’ is
associated with-

(A) TB Patients
(B) Cancer Patients

(C) Covid Patients

(D) Heart Patients

T e Qe W W TR B
(A) T & 7O §

(B) %ex & 70 ¥

(C) wifes & =7 9

(D) T=adr & wle 9

The sum of the squares of three
consecutive positive odd integers is 155,
then the product of largest and smallest
numbers is -

A SHETT YT [TTH QOIl B S o
Qe 155 ¥, 99 Te9 991 qur 99 Bl
el W OEEA & —

(A) 21 (B) 117

(C) 63 (D) 45

Bhadla Solar Park is situated in -

(A) Jaipur (B) Jodhpur
(C) Jaisalmer (D) Barmer
T WW U Rua ¥ -

(A) wage 4 (B) gy ¥
(C) et o (D) s ¥

73 Which type of Samantas in Marwar State

74

75
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. (O Raj shekhar

were exempted from Rekh, Hukamnama
and Chakri for 3 generations?

(A) Rajvi
(C) Sardar

qREE U ¥ Y g & andl ) 3w,

g 8l T @ 3 Al % Rw g
fepar T v ?

(A) T
(C) 9g&r

(B) Kumpawat
(D) Ranawat

(B) grmed
D) TemEm

The winter rainfall in Rajasthan is the
result of cyclones, which originate from
the

(A) Black Sea

(B) Red Sea

(C) Arabian Sea

(D) Mediterranean Sea

o H S asl 99 Teharal o aivens
WETEMN Y, W ¥ 3O 89 ¥

(A) e 9 e

(B) W@ |FX
(C) oI® 9
(D) e |FR

Who was the author of ‘Brihat Katha
Kosh’?

(A) Haribhadra (B) Harisen

(D) Chandra Shekhar
TEA BAT B B AGH B AT 7

(A) s (B) sfea

(C) T=idrET (D) T=9ET
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How many districts of Rajasthan are
located along the border with Pakistan?

TweE & o e uisem o A &
ek Ruw ¥7?
(A) 4
<y 7

(B) 6
) 3

Each form of allotropes differs in their -
(A) Physical properties

(B) Chemical properties

(C) Kinetic properties

(D) Muscular properties

HITCEY BT IF TY (97 BT 8, T
(A) s on o

(B) <R o §

(C) wiferes wqont &

(D) =reasfrr on #

The plateau region from Bhaisroadgarh
to Bijoliya is known as -

(A) Chhappan  (B) Uparmaal

(C) Kanthal (D) Tiba
fadeTe ¥ e & 9 fug usrd wew
HEATT T —

(A) B9 (B) wuwa

(C) wisw (D) At

If (729)>™* =3'9%, then the value of x is -

af (7297 =3, ey x wmr AW ¥ -
6
) 7 ®) 2

© 1 )

~ W

80
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Who among the following folk-deity is
knownas deity of camels?

(A) Pabuji (B) Gogaiji

(C) Habhuji (D) Tejaji

PrerfRee ¥ & Rew Wiobadr ®1 & B Ao
HET ST § 7

(A)

(B) el
(D) o=

When was the first tourism policy
declared in Rajasthan?

u«ewmﬁuw%%ﬁmaﬁ%‘aﬁm
IS
(A) 2000
(C) 2002

(B) 2001
(D) 2003

Which one of the following dialects has
clear influence of Gujarati language?

(A) Maivi (B) Vagadi
(C) Mewati (D) Hadauti
- Prefefe ¥ € few 99 9 ST 9o @
e 99 %7
(A) =y (B) =rEl
(C) Famhr (D) ==
L1011 1
"§+§+i§'+55 30
11,1, 11
PR TRERTRE T
11 10
A o ®) -
9
© o (D) lﬁ-
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84 Where the famous Sone-chandi ki haveli

85

86
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is located in Rajasthan?
(A) Laxmangarh - Sikar
(B) Pokran - Jaisalmer
(C) Bisau - Jhunjhunu
(D) Mahansar - Jhunghuﬁu

o ¥ uRrg 9 a&aﬁmw
e ¥ 7

(A) WErE — Hek

(B) WreTer — SRR

C) Fe™ - g5

(D) ==Y - =1

When did Five Year Plans start in
Rajasthan?

S A doadi arrre a% S@\};&Gﬂa &
ot \’

(A) 1951-52
(C) 1991-92

B) 1955-56
(D) 1966-67

Which of the following is not the
traditional method of water. conservation
in Rajasthan? "

(B) Nadi

(A) Nali
(C) Toba (D) Johad

Prefefare ¥ & v F @ @ s wa
& waerre fafyr = ¥ 7

(A) sy (B) 'srré?

(C) (D) a’@

87 Great Boundary Fault does not pass

88

89
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through
(A) Kota
(B) Udaipur

(C) Sawai Madhopur
(D) Dhaulpur

HE AT 9
(A) Bl
(B) weagt
(C) werd =gy
(D) ehege

T—

e W TEY T ¥

Where the 84 Pillars Cenotaph is located?

(A) Karauli (B) Jaisalmer

(C) Sivana (D) Bundi

SR ' ® B @l Ruw ¥ 7
(A) wla (B) StEeex

(C) Famom (D) &

Which school of painting is related with
‘Pichhbai’ Paintings?

(A) Nathdwara School
(B) Kishangarh School
(C) Alwar School
(D) Bundi School

o R fee Reeer S & wefeg
®7

(A) STrrET I

(B) fryme e
(C) srwEx 9
(D) <& 9w
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90 Who was the founder of Rathore Dynasty

91

92
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of Marwar?

(A) Rao Siha (B) Rao Jodha

(C) Rao Choonda (D) Rao Ranmal
ARETS % YOS USEYT BT RAT9e B 97 7

(A) T €rer (B) <& s

(C) = gzt (D) T A

If same force acts upon two objects at
rest having different masses for the same
amount of time, then which of the
following will be same for the two
objects?

(A) acceleration (B) Kkinetic energy
(C) velocity

it &1 STET ST FeqqTT are! Ruy awgatl 9t
T & TR % Y T SW B S 8
A 39 & gl & fw = § 9w v
B 7

(A) wTm
(C) =

(D) momentum

(B) Rt ot
(D)

Lumpy disease has created health
problems in -

(A) Human (B) Cattle

(C) Crops (D) Birds

] SIS & WHIoT T qhen g ¥ -
(A) 3Tl @ (B) wafyw =i

(C) wwell @l (D) uferEl i

93 Recently, Amagarh Reserve was in news,

94

95
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it is famous for -

(A) Tiger Safari

(B) Bird Watching

(C) Elephant Safari

(D) Leopard Safari

T B ¥ erre Rod el | o, uw
g € -

(A) TER "ol % fig

(B) wfei % fog

(C) = wwrdl & g

(D) @9 awrtr & fg

Which of the following is not a breed of
Sheep?

(A) Rathi (B) Chokhla

(C) Nali (D) Pugal

Frefafaa o @ #9 9 98 W T T8l 57
(A) T (B) dreEer

(C) = (D) gm=

Digifest was organised on 19th.20th
August, 2022 in - '

(A) Jodhpur (B) Udaipur
(C) Jaipur (D) Kota

19 9 20 orra 2022 & fsivee o
fopamr ar — |

(A) shEge A
(C) wage

(B) weaqy o
(D) @rer o
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The mutiny in Rajasthan started on May
28, 1857 by which soldiers of Nasirabad
Cantonment?

(A) Rajputana Rifles

(B) Bangal Native Infantry

(C) Gorkha Rifles

(D) Kumaon Regiment

TR H Wik @ wres 28 W, 1857 @
TEREE wrEsr % oy Al i gen
(A)

(B) ¥ wfew s
(C) irtEr TgHe
(D) Forg W

i+l IR%ed

On the occassion of World Tribal Day
the foundation was laid for a bridge to be
constructed on which river in Banswara
district?

(A} Haran (B) Airav/Erav
(C) Anaas (D) Chap

favg enfeardy Rag & sregt ux gigarsT e
! o T8 WX GE S &1 T ge ¢

(A) T (B) @
(C) s (D) =™

Which district of Rajasthan has highest
area of very dense forest in 20217

(A) Udaipur (B) Sirohi

(C) Alwar (D) Pratapgarh

2021 = Tora™ % e ¥ fa ¥ waites o
¥ T g9 9 W 87

(A) J&agR (B) faxEr

(C) smEr (D) garre

99

100
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Prize money for two sports awards
namely, Guru Vashishth Award and
Maharana Pratap Award have been

increased to from 1 lakh,
(A) 2 lakh (B) 3 lakh
(C) 4 lakh (D) 5 lakh

a1 T QLEAT, 6 AR YRR TE HETOen
T YRR % [0 gIEhR T &) 1 @ §

FGTHT &y far T ¥
(A) 2 W@ (B) 3 @@
(C) 4 @@ (D) 5 wr@

Khejri is the species of vegetation (tree)
forests.

found in the

(A) Sub-tropical Hilly
(B) Tropical Dry Deciduous
(C) Tropical Thorn

(D) Tropical Evergreen

QST ey U ()
RIS

(A) SursT TEA

(B) Swpledeiy %6 WS
(C) Swmleddy Hdm

(D) vomicedy TEEER
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